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Lower scoring learner response: 

 



 

19 

 

 



 

20 

 

 



 

21 

 

 



 

22 

 

 

  



 

23 

 

Assessment Focus 1 Structure 

Higher scoring response  

 

Annotation’s box  

This assessment focus requires learners to provide a well written rationale that has a 
logical structure. The learner is also expected to apply a variety of marketing concepts 
and use relevant marketing terminology. 

Marks for structure are awarded based on the work that learners produce in response to 
Activity 1.  

In this piece of work, the learner was awarded 4 marks. This is because the learner has 
produced a piece of work with a clear structure. A number of appropriate subheadings 
are used to divide activity one into relevant sections.  

The work is well written. The learner writes coherent sentences that can be easily 
understood by the reader. 

The work also uses a range of marketing concepts. A number of different theories and 
concepts have been accurately applied throughout this activity.  

 

Lower scoring response  

 

Annotation’s box  

This piece of work was awarded two marks for this assessment focus. The learner has 
produced a piece of work that has a basic structure and is easy to follow. This piece of 
work is considered to have a basic structure because, while it is divided into a small 
number of relevant sections, there is no further subdivision of these sections apart from 
where the learner uses the names of each section of their SWOT and PESTLE analysis. 

The application of marketing theories and concepts is relatively simplistic and somewhat 
superficial. In the SWOT and PESTLE analysis the learner is largely stating data from 
their research with no further analysis of the significance of this information to marketing 
activity.  

The remaining sections of Activity One (“A rational for the Bicycle Shop” and “The Target 
Market”), contain relatively little marketing theory and this is not always well applied – 
for example, one of the aims suggested for the business is to “gain brand awareness by 
expanding into well-known commuter cities”, with no further explanation of how these 
two points are linked. 
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Assessment Focus 2 Marketing Aims and Objectives 

 

Higher scoring response  

 

Annotation’s box  

This piece of work was awarded 5 marks for this assessment focus. This is because the 
learner has written relevant objectives and has provided some development that is 
relevant to context.  

The learner has written a series of statements under the heading ‘aims’. These 
statements more closely resemble objectives, but this error is not taken into account 
when awarding marks. Learners are always rewarded for what they have done correctly, 
not penalised for making errors. 

Each objective is relevant to the context of a small bike shop, to some extent. These 
three statements alone would have earned the learner a mark in band two. This piece of 
work moves into mark band three for this assessment focus because the learner has 
written a short analysis of their objectives. Ignoring the fact that the learner suggests 
setting SMART targets in order to meet their objectives, the learner does make a number 
of relevant points about how the objectives could be met (e.g. “the first step to creating 
a larger customer base would be to increase promotion and advertisement”) 

This piece of work could have been improved to achieve a mark in band 4 in a number of 
ways. For example, the learner could have used their research data to justify their choice 
of marketing objectives. 

 

Lower scoring response  

 

Annotation’s box  

This piece of work was awarded two marks. The learner has made only passing reference 
to aims and objectives at the end of the first paragraph of activity one.  

The goals suggested (building a brand and gaining brand awareness) are largely generic 
and, although the learner attempts to place them into context, only manages to do so 
superficially. 
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Assessment Focus 3 Research and Analysis of Market Information 

 

Higher scoring response  

 

Annotation’s box  

This learner was awarded 8 marks, the midpoint in mark band 3 for this assessment 
focus.  

Looking throughout both activity one and two, the learner makes a number of references 
to the case study and to their own research into both the case study business and the 
wider business environment which are largely relevant to context. 

There is some effort by the learner to analyse their research and some relevant and 
balanced conclusions are present. 

The work is not at the top of mark band three because the learner’s interpretation of 
validity and reliability is weak. For example, statements such as “the data is reliable 
because I collected it myself” suggest that the learner does not have the “good 
understanding” of validity and reliability, and their relevance in this context, that is 
required to reach the top of this mark band.  

 

Lower scoring response  

 

Annotation’s box  

This learner was awarded 4 marks, placing this work at the bottom of mark band two.  

The learner has made references to both the case study and to their own data. This is 
not always relevant to the context of the activity. For example, the learner includes a 
number of points about EBikes – a different product category to folding bikes. 

One significant weakness of this piece of work is the lack of analysis of the research 
presented. While this learner has found some interesting and relevant facts (for 
example, that “health conscious pressure groups such as the BMA lobby the government 
for healthier alternatives to travelling”), they do not analyse this data. For example, this 
point could be considered in terms of its impact on demand for bikes. 
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Assessment Focus 4 Justification 

 

Higher scoring response  

 

Annotation’s box  

This learner has been awarded 7 marks for this assessment focus, placing their work at 
the bottom of mark band 3. This is because although the learner has used a variety of 
analytical tools (SWOT, PESTLE, Product Life cycle and Five Forces) the work does not 
lead to a justified evaluation. This learner could have improved this aspect of their work 
by using fewer analytical models in a more sophisticated way. 

After placing research into models such as SWOT and PESTLE, the learner should analyse 
their findings and make clear judgements about how the data will inform their marketing 
decisions.  

By replacing one or two of these analytical models with a conclusion explaining how their 
situational analysis will inform their marketing campaign, this learner would have 
achieved a mark in band four for this assessment focus. 

 

Lower scoring response  

 

Annotation’s box  

This learner achieved 7 marks for this assessment focus because they used a variety of 
analytical models (SWOT and PESTLE). However, they did not provide a clear conclusion. 
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Assessment Focus 5 The Marketing Mix 

 

Higher scoring response  

 

Annotation’s box  

This response was awarded 15 marks, placing it towards the top of mark band three.  

This is a good example of a piece of work where the learner has produced a 
contextualised 7P marketing mix along with a relevant marketing message and an 
explicit selection of appropriate media channels for their campaign.  

Not all elements of the marketing mix are fully contextualised. For example, coverage of 
place is entirely generic. Had all of the 7p’s been examined in context then this piece of 
work would have been placed into mark band four. 

The work was not placed at the top of mark band three because the marketing message 
for the campaign was not clear – the message was, in fact, somewhat vague – a general 
point about providing good value and quality for customers. 

Had the learner provided a clear and explicit marketing message, this piece of work 
would have been at the top of band 3. 

 

Lower scoring response  

 

Annotation’s box  

This piece of work was awarded two marks for the marketing mix, placing it at the 
bottom of mark band one.  

This is because the learner has provided an outline marketing mix which is generic and 
incomplete. The learner has only covered two of the seven P’s and, in each case, the 
points that they make are relatively generic definitions. For example, the learner gives a 
simple definition of penetration pricing without explaining why this approach might be 
appropriate for the sale of folding bikes at “The Bicycle Shop”. 

There is no clear marketing message provided. Although the learner has shown some 
evidence of considering the most appropriate media channels for this campaign, this is 
limited to generic detail. 
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Assessment Focus 6 Budget 

 

Higher scoring response  

 

Annotation’s box  

This piece of work has been awarded 6 marks, placing it at the top of mark band three 
for this assessment focus. The learner has shown a detailed understanding of costs by 
using data on the cost of different forms of promotional in order to calculate precisely 
how much their proposed campaign should cost. For example, the learner has considered 
not only the cost of air time for an advertisement but also the cost of production for a 
television advert.  

This work was not placed into mark band four because the planned use of the budget 
was not always realistic. For example, using around three quarters of the budget on a 
single television advert that would only air once seemed implausible. 

 

Lower scoring response  

 

Annotation’s box  

This work has been placed into the bottom of mark band two, earning 3 marks.  

The learner has allocated a sum of money to a number of marketing activities, showing a 
basic understanding of costs.  

The work has not been placed at the top of this mark band because there is no clear 
indication that the work has been placed in context. 
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Assessment Focus 7 Timescale 

 

Higher scoring response  

 

Annotation’s box  

This piece of work was placed into mark band three, gaining three marks.  

The learner has created a Gantt chart-style layout by shading in boxes on a table.  

This has allowed them to show which activities will run in certain weeks.  

The learner has also included a short rationale for their timeline, highlighting when the 
campaign will take place (April and May, due to better weather.) 

It was the inclusion of this information that moved the work from band two to band 
three (i.e. a precise choice of date and a realistic reason for choosing it.) 

Had the learner produced a more thorough timeline – e.g. highlighting key dates such as 
the launch of their campaign - then the work would have been placed in mark band four. 

 

Lower scoring response  

 

Annotation’s box  

This piece of work has been given one mark, placing it in mark band one. The learner 
has not indicated an explicit timeline, but has indicated within their budget approximate 
lengths of different marketing activities.  
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Assessment Focus 8 Presentation 

 

Higher scoring response  

 

Annotation’s box  

This assessment focus is awarded based on work produced by the learner in Activity B. 
This assessment focus depends on evidence that the learner has presented their work in 
a professional manner, made no obtrusive communication errors (e.g. no significant 
errors in spelling, punctuation and grammar) and has used appropriate marketing 
terminology. 

 

This learner has achieved 4 marks, placing the work in mark band four for this 
assessment focus. The work is well presented, with appropriate use of headings, sub-
headings and other presentational devices such as lists.  

There are no significant errors in communication and relevant marketing terminology has 
been used throughout part B. 

 

Lower scoring response  

 

Annotation’s box  

This learner has been awarded 2 marks, placing this piece of work into mark band two 
for this assessment focus. This is because the work has a basic standard of presentation, 
with inconsistencies in the way that the material is laid out and errors in presentation 
such as splitting paragraphs over two pages. The work contains a number of minor 
errors of spelling and grammar and some references to marketing terminology.  

The work could have been moved into mark band three if there had been fewer 
communication errors and the standard of the presentation had been improved. 


